
 

 

 

Model Question
 

CLASS XII : CHEMISTRY : Term I (Half Yearly) : 2021–22 : Marks 35
 

I. Choose the correct answer :–	 1x11 

1.	 ˆ•:yˆÏàyly° âl§!ß¨!Ó‹T ~Ü˛Ü˛ ˆÜ˛yˆÏ£Ï ÊÑ˛yÜ˛y fliyˆÏlÓ˚ ¢ï˛Ü˛Ó˚y ˛õ!Ó˚Ùyl ÈüüüÈ 

(a) 74% (b) 48.6% (c) 32% (d) 26% 

2.	 ˆÜ˛yl ~Ü˛Ü˛ ˆÜ˛yˆÏ¢Ó˚ ˆ«˛ˆÏe a≠b≠c, a=y=90° ~ÓÇ β≠90° ? 

(a) xˆÏÌ≈yÓ˚!¡∫Ü˛ (b) ÙˆÏly!Üœ˛!lÜ˛ (c) ê˛∆y•z!Üœ˛!lÜ˛ (d) ˆê˛ê˛∆yˆÏàyly° 

3.	 !lˆÏã˛Ó˚ ç°#Î˚ oÓlà!%°Ó˚ ÙˆÏôƒ ˆÜ˛yl!ê˛Ó˚ fl≥%˛ê˛lyB˛ §ˆÏÓ≈yFã˛ ÈüüüÈ 

(a) 1.0(M)NaOH	 (b) 1.0(M)Na
2
SO

4 

(c) 1.0(M)NH
4
NO

3	 
(d) 1.0(M)KNO

3 

4.	 ˆ•l!Ó˚ ô ÓˆÏÜ˛Ó˚ (KH) Ùyl ÈüüüÈ 

(a) !fliÓ˚ ÌyˆÏÜ˛	 (b) ≤ÃÌˆÏÙ ÓyˆÏí˛¸ ˛õˆÏÓ˚ Ü˛ˆÏÙ 

(c) í˛z£èï˛y Óyí˛¸ˆÏ° Ü˛ˆÏÙ	 (d) í˛z£èï˛y Óyí˛¸ˆÏ° ÓyˆÏí˛¸ 

5.	 l#ˆÏã˛Ó˚ ˆÜ˛yl!ê˛ xyo≈ !ÓˆÏŸ’!£Ïï˛ •Î˚ ly ÈüüüÈ 

(a) NF
3 

(b) AsCl
3 

(c) SbCl
3 

(d) PF
3 

6.	 ˆÜ˛yl!ê˛ àƒy§#Î˚ xÓfliyÎ˚ xl%Ó˚*ˆÏ˛õ G Ü˛!ë˛l xÓfliyÎ˚ xyÎ˚!lï˛ ÌyˆÏÜ˛ ÈüüüÈ
 

åaä CCl
4 

åbä PCl
3 

åcä PCl
5 

ådä POCl
3
 

7.	 l#ˆÏã˛Ó˚ ˆÜ˛yl!ê˛ xƒy°!Ü˛° •ƒy°y•zí˛ ≤Ã›!ï˛Ó˚ §ˆÏÓ≈y_Ù ˛õk˛!ï˛ ÈüüüÈ 

(a) ROH + SOCl
2 
→ (b) ROH + PCl

5 
→ 
ZnCl2(c) ROH + PCl

3 
→	 (d) ROH + HCl ––––––> 

8.	 I
2
/NaOH ~Ó˚ §yˆÏÌ !Ó!e´Î˚yÎ˚ •°%ò xô/ˆÏ«˛˛õ í˛zÍ˛õß¨ Ü˛ˆÏÓ˚ ÈüüüÈ 

(a) CH
3
CONH

2	 
(b) CH

3
COCl 

(c) CH
3
COOCOCH

3	 
(d) CH

3
CH(OH)CH

2
CH

3 

9.	 xƒy°!Ü˛° •ƒy°y•zí˛ ˆÌˆÏÜ˛ xƒy°ˆÏÜ˛y•° ≤Ã›ï˛ Ü˛Ó˚yÓ˚ ≤Ã!e´Î˚y!ê˛ •° ÈüüüÈ 

(a) Î%ï˛ !Ó!e´Î˚y	 (b) ≤Ã!ï˛fliy˛õl !Ó!e´Î˚y 

(c) ˛õ%l!Ó≈lƒy§ !Ó!e´Î˚y	 (d) !í˛ÈüÈ•y•zˆÏí»˛y •ƒyˆÏ°yˆÏçˆÏl¢l 

10.	  °%Ü˛y§ !Ó!e´Î˚yÎ˚ ˆÜ˛yl!ê˛ í˛zÍ˛õß¨ •GÎ˚yÎ˚ oÓî!ê˛ ˆây°yˆÏê˛ §yòy ˆòáyÎ˚ ÈüüüÈ 

(a) xƒy°!í˛•y•zí˛ (b) !Ü˛ˆÏê˛yl (c) xƒy!§í˛ ˆÜœ˛yÓ˚y•zí˛ (d) xƒy°!Ü˛° ˆÜœ˛yÓ˚y•zí˛ 

11.	  !lˆÏã˛Ó˚ ˆÜ˛yl!ê˛ !ÓçyÓ˚Ü˛ ¢Ü≈˛Ó˚y lÎ˚ ÈüüüÈ 

åaä @’%ˆÏÜ˛yç åbä §%ˆÏÜœ˛yç åcä Ê %˛Ü˛ˆÏê˛yç ådä °ƒyÜ˛ˆÏê˛yç 

II. Answer very briefly :–	 1x20 

12.	 ˆÜ˛yl ôÓ˚ˆÏlÓ˚ e&!ê˛Ó˚ Ê˛ˆÏ° ˆÜ˛°yˆÏ§Ó˚ âlc •…y§ ˛õyÎ˚ ⁄ 

13.	 ˛õ,¤˛ˆÏÜ˛!wÜ˛ âlÜ˛yÜ˛yÓ˚ ~Ü˛Ü˛ ˆÜ˛yˆÏ¢ Ü˛îyÓ˚ §Çáƒy Ü˛ï˛ ⁄ 

14.	 fl≥%˛ê˛lyB˛ ô ÓÜ˛ Ü˛yˆÏÜ˛ ÓˆÏ° ⁄ 

15.	 xy•zˆÏ§yˆÏê˛y!lÜ˛ oÓî Ü˛yˆÏÜ˛ ÓˆÏ° ⁄ 



 

 

 

16.	 xƒyˆÏÙy!lÎ˚yÓ˚ !ÓçyÓ˚î ôˆÏÙ≈Ó˚ ~Ü˛!ê˛ í˛zòy•Ó˚î òyG– 

17.	 Êœ%˛Ó˚y•zˆÏí˛Ó˚ Ó˚y§yÎ˚!lÜ˛ çyÓ˚î myÓ˚y Êœ%˛!Ó˚l ≤Ã›ï˛ Ü˛Ó˚y ÎyÎ˚ ly ˆÜ˛l ⁄ 

18.	 ˆÓ!¢Ó˚Ë˛yà ˆlyÓ° àƒy§ ˆÎÔà ˆçll â!ê˛ï˛ñ Ü˛yÓ˚î Ü˛# ⁄ 

19.	 NO
2
 í˛y•zÙyÓ˚ àë˛l Ü˛ˆÏÓ˚ ˆÜ˛l ⁄ 

20.	 @˝Ã&˛õ 16 ~Ó˚ •y•zí»˛y•zí˛=!°ˆÏÜ˛ x!¡‘Ü˛ï˛y Ó,!k˛Ó˚ e´Ùyl%§yˆÏÓ˚ §yçyG– 

21. !Ó!e´Î˚y §¡õ)î≈ Ü˛Ó˚ ÈüüüÈ 

22. !Ó!e´Î˚y §¡õ)î≈ Ü˛Ó˚ ÈüüüÈ 

23. C
6
H

5
Cl xˆÏ˛õ«˛y CH 

XeOF
4
 + SiO

2 
→ ⁄ 

CCl4 
CH

3
COOAg + Br

2
 ÈüüüüüüüüüÈ!Ó˚Êœ˛y: 

Cl ~Ó˚ xyo!ÓˆÏŸ’£Ïî xˆÏlÜ˛ §•ˆÏç âˆÏê˛ Ü˛yÓ˚î !°á–
3 

24.	 Ó˚&˛õyhs˝Ó˚ Ü˛ˆÏÓ˚y ≠ÈüÈ xƒy!l!°l ÈüÈÈüÈÈüÈÈüÈÈüÈÈüÈ ˆÜœ˛yˆÏÓ˚yˆÏÓ!Ol 

25.	 Ó˚y§yÎ˚!lÜ˛ !Ó!e´Î˚yÓ˚ §y•yˆÏÎƒ ˛õyÌ≈Ü˛ƒ !lî≈Î˚ Ü˛Ó˚ ≠ÈüÈ
 

åaä ˆÜœ˛yˆÏÓ˚yˆÏÓ!Ol G ˆÓOy•z° ˆÜœ˛yÓ˚y•zí˛–
 

26.	 l#ˆÏã˛Ó˚ ˆÎÔà=!°ˆÏÜ˛ fl≥%˛ê˛lyB˛ Ó,!k˛Ó˚ e´Ùyl%§yˆÏÓ˚ §yçyG ≠
 

ˆ˛õrê˛yl -1- x°ñ !Óí˛zê˛yl -1- x°ñ !Óí˛zê˛yl -2- x°ñ •zÌyl°–
 

27.	 Ó˚*˛õyhs˝Ó˚ Ü˛Ó˚ ≠ÈüÈ •zÌyl° ÈüÈÈüÈÈüÈÈüÈÈüÈ> !ÙÌyl°– 

28.	 ˆÊ˛lˆÏ° ˆÓ y!Ùl ç° ˆÎyà Ü˛Ó˚ˆÏ° !Ü˛ âˆÏê˛ ⁄ 

29.	 Ó˚y§yÎ˚!lÜ˛ !Ó!e´Î˚yÓ˚ §y•yˆÏÎƒ ˛õyÌ≈Ü˛ƒ !lî≈Î˚ Ü˛Ó˚ ≠ÈüÈ
 

åiä •zÌyl° G ˆÊ˛l°–
 

30.	 ç%•zê˛yÓ˚ xyÎ˚l Ü˛yˆÏÜ˛ ÓˆÏ° ⁄ 

31.	 @’y•z!§l G xƒy°y!lˆÏlÓ˚ ˆ˛õ˛õ‰ê˛y•zí˛ Ó¶˛l àë˛ˆÏlÓ˚ §Ù#Ü˛Ó˚î !°á– 

III. Answer the following :–	 2x2 

32.	 27°C ï˛y˛õÙyeyÎ˚ 2.5gm ̂ ≤Ãy!ê˛ Ï̂lÓ˚ 600ml ç°#Î˚ oÓ Ï̂lÓ˚ x!Ë˛flÀÓl ã˛y˛õ 25 mm Hg– ̂ ≤Ãy!ê˛l!ê˛Ó˚ 

xyˆÏ˛õ!«˛Ü˛ xyl!ÓÜ˛ Ë˛Ó˚ !lî≈Î˚ Ü˛Ó˚– 

33.	 SF
4 

xyo≈ !ÓˆÏŸ’!£Ïï˛ •Î˚ñ !Ü˛v SF
6
 •Î˚ ly ˆÜ˛lñ Ü˛yÓ˚î ò¢≈yG– 

======== 


